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Resear ch for User Per ception of School Busby AHP*

By Shin SUGIURA**[] Eizo KINOSHITA***

This pgper shows user perception of school bus by Andytic Hierarchy Process

AHP is solving problem decisorrmaking modd.

This sudy utilizes 4 methods on AHP, “Generd AHP modd”, “ANP’ (Andytic Network Process), “Weight CCM (Concurre
nt convergence method)” and “Totd CCM of evauation vaue'. T.L.Saaty proposed Generd AHP and ANP. Weight CCM w
as proposed by KINOSHITA and NAKANISHI. Totd CCM of Evduaion vaue was proposed by SUGIURA and KINOSHI
TA. Espedidly this is the firg gpplication example by Weight CCM and Totd CCM ever. And this pgper shows posshility a
nd availability of AHP.




